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1. Which proper-ty is essential for a

metal to draw it into thin wirps ?

(a) Malleability
(b) Hardness

(c) Plasticity
(d) Dttctility

Slhichb the hardest ftom these ?

(a) HighCarbon Seel
(b) Glass

(c) Diamond
(d) Craqite

The untr of enPrgY in S.I; sYstem is

(a) Watt

O) Joile
(c) Ioule/min
(O Joule/metre
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BASIC MECHAMCAL ENGII\EERING

#,
Nota:

(i) p'1r0rw'il#lq-rdfg?l#mr gFwt t

All grtostio 
.ns are cmnpubory ard each qrestion is of I mark

(ti) qtqilq,vrd#.rtil{El+ 4frlfddefdq? qava?rral- t

An$ hglish version is valid in case of differerce in both the langrUges.

1. qE+qdqRrd++kqw+fus
Wr6rdqr €qk{dtt
(a) qlqmf+Gr
(b) Eiqil
(c) ffi
(d) ilrrtr

Yn{tvdkt,,ddtt<qrtr
(a) vqurfrwc
o)fr
(c) ftr
(d) +ffe

(a) qra

(b) s{
(c) Etufu{c
(d) rynia

3.

(1)



Eg,fi}
4. qmt tf, Er Hrffirrs{Erflr t

(a) PV = mRT
(b) PVn = C

(c) rv=|nnt
(d) Cp-Cv = R

5. wnfustErssgf,qq1gtrt
(a) Hmr{{Hq
O) wt*{qq
(c) d+r*{Hq
(d) wr{1qul

qq. wa*at vffi rsh' sqr+ r.i'n
(a) lOOdzr
(b) 2sotfra
(c) sooFfra
(d) 10oo Htfi

ftq{{6h*frqrrfutr
(a) frivtsgptT

O) frfireqrqil{
(c) ftfireUm
(d) F{+d*qfi

ilro{$rFriliilTo[
(a) wrr{fudqgqruwrt r

O) lrerr{qu{rilsqlramt I

(c, sFfit qFFFiIT rf,t Tfl (m f, I

(d) E{++qitqfi

qlFffirRllIgqrr*tTt
(a) 103 kl.I/nP

O) 10.3 mqrff
(c) 760 mrn qg1

6) sq+mlrrfr

..,i !
:i.J

7.

9.

(2t 2039

Characteristic equation qf a perfect
gas is
(a) PV ='mRT
(b) PVn = C

(c) rv=|nnr
(d) %-cv=R

The first law of thermodynarrics is
related to
(a) Conservation of mass

O) Conservation of energy
(c) Conservation of momentum
(d) Conservation of heat

One cubic meter of water is equal to
(a) l0Olitres

O) 250lines
(c) 5fi) litres
(d) lO00litnes

Which of the following is dimension
less ?

(a) Specific heat

O) Specific volume
(c) Specific gravity
(d) None of these

Viscosityof a fluid
(a) niake resistance in flowing
O) helps in flowing
(c) iicneases its conductivity
(d) None of these

Jte amospheric ptessur€ at sea level
ls
(a) 103 k},I/m2

O) 10.3 mof warpr
(c) 750 mm of rercury
(d) All of &ese

5.

7.

9.



11.
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10. qsft+ nfuoT w sr.ril(Ur Ir( qnilkd

ttu
(a) qr+ qld rre d ffit { qfu qff

*frt r

O) ntrrifi *n qrrq*' EWFr+ffi
fugvtvmt I

(c) rlffitdut w *'frk qq
Ehftqtr ircr cr{ qfi qtrtt t t

(d) srrrtffiqs

{iffiqfro,{ur+qTgR
(a) wlar =w2%

O) wlvl = w2v2

(c) tf r= a2Yz

(d) arlvl= ay'v,

ffi+er{ Eq in tisq{fu sshut{r
wlrt-frrt r

(a) qk.
O) ifirT

(c) IFIFT

(d) Fd+frt{qfr

qqHqq{reqq{livro,tatt
(a) uqqt
o) ++t
(c) k+
(d) Fdtftttd

f€{&etirr{qt
(a) qtfusilf Ellittzwh
O) kqmrsrirrgcrt{
(c) rq{fqrerfslrnrzwts
(d) tqtftquqcsftkrztilh

13.

14.

(t) 2i06,9

The Bernoulli'o equ4im is basod olt
the assurytionthat

(a) Therp is no loss of enPrEI qf the

liquidflowing.

O) The velocity of flow is uniform
rcrcos aoy cross-sPction of the
ppe

(c) No force excep gavitY acts on
ttefluiil.

(d) All of the above.

Accoding to equatiop of continuity

(a) wtal = w2U

(b) wlvt = w2Y2

(c) alvl = a2v2

(d) arlv, =tlv2

In a vcnturireter, the rrelocity of
liquid at6r@tis 

-than 

atinla.
(a) higt€r
(b) lower

(c) eeu,al

(d) Norcofthpse

Itr a ce,ntifrrgal punp the liquid
Gntcrs tbe punp

(a) attbtop
o) mtheboftm
(c) ctte€DFc
(d) Noqp of these

Felonwheel urtine is
(a) exialflow,inpulscutthine

O) radialflow impulsctqrbino

(c) tangpntialflowiryulseuftitrc
(d) tangentialflowreactionutrbine

11.

t2.

t3.

14.

P.T.O.

12.
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trq.qr.r rR sq Frw(,r iq H { +
dquqqsqpdqr ? - 

I

(a) qqidw
(b) qtfrqrFrrqq
(c) furrqrtrq
(d) reqFr+qq

trifus rrqr{" Er r+r fuq qnr t qq
ql+6r $rfl'er {,ff{ dfrr t
(a) ZSO{atuqr
(b) 25 +e{+ 2so*arr'
(c) ZS tawo'
(d) Hd'+frttET

q-*. ffiir{iflqd t,r dT6{ { 1q sq q
irq6r.tiqgtfrrefiilrqrmi:
(a) iiwifr'EqfrEq6{iiq
(b) qrqEr €rirdqt.{iiq
(c) qItT in (Iq Wr+ tq
(d) gqnffirs$,

tTE{ { + +{ dznntwqrm tt
(a) firMfq{
(b) €rkdrr+-

(c) (a) q{ O) qtfi
(d) Ed+6!gtr

qrqzc<ti+ ur qrnrwurfoqr qtgmrt
(a) qri+Err+tfur qsr
(b) riqrfr,*qr €rgsr
(c) qrq 6r ifiqr o ar1qrr

(d) srtnq*
mfu qtq zrqth { qtq qT nswr +dr t
(a) wrcqqqsq
O) Wtw*d-{dr{
(c) qtnffidrfl { qt qikru,qstrc
(d) r+t*frl*d

2039

For small discharge at high presue,
following prmp is suitable
(a) Centitugal pump

O) A,rdal flow pump
(c) Mixed flow pump
(d) Reciprocating

Francis turbine is used when
available head of water is
(a) abbve 250 metne

O) 25 metre n250 metre
(c) Upo 25 metre
(d) None of these

An eaonomiser is installed in a boiler
primarily to
(a) reduce fuel cousumption

O), superheatthesteain
(c) increase steam pressure

(d) all of these

Which of the following are boiler
accessories ?

(a) Economiser

O) Superheater

(c) Both (a) and (b)
(d) Nme of these

Steam turbines may be classified
according to
(a) direction of steamflow
O) number of sages
(c) mode of stea.m action
(d) All of these

In an impulse steam turbine, steam
expands

(a) whollyinblades
(b) wholly ia nozzle
(a) partly in the nozzle & partly in

bldes
(d) Nono of these

(4)

15. 15. i_

16. 16.

17. 17.

18. 18.

19. 19.

20. 20.
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zt. ftq{tdrHr qr<fts'(rq (rc) tw{qfitt
(a) frWtiiliiw
(b) vi!: Q+'fr46i*
(c) kffrtw
(d) snqtqT

22. qq, tr. +fro ttn or en{ qr to,
vm *'tTE{ { * fuil+ qfrrrtrur { fut
dnr* r

(a)

(b)

(c)

(d)

.L
2

I
2

4

25.

+fn tw { utg-t*tr qqm Er Fffiaq
q,qart

(a) imqq
(b) qsi{
(c) Fqffi
(d) Hficr

rtrcT-q[EffiE rt ll-rft-1g6ug1 ir uqq
ffikwmiilfrt
(a) ftrdus{ at qk,' sil{d qd+ tE
(b) qffiqiffiiq
(c) €Hdt€r+stq
(d) weroriq

$revo<rmn
(a) nk{q{uro,qt<rt r

6y vk{q{qqErert r

(c) vrk {qrur Er +t* uqrr qfi
gtEt-6IE I

(d) mriw"t +t qfi'Sqr iFFTgrdEr

ftnntrznrt r

(s) m9
Wfrt'cn of the following is not an
int€mal combustion engiry ?

(a) Tlvo stroke petrol engine

O) Fourstrokep€trolengine

(c) Diesel engine

(d) Srcam engne

The working cycle in case of 4-q@ke
petol engire is complaed in fo[owiag
nrmber of rpvolution of ciank slirft

I(a) i
(b) 1

(c) 2

(ar 4

The air-fuel ratio of pefrol engine is
contolled by

(a) tuel pury
(b) govemor

(c) injector

(d) carburettor

Fins are providd over engine
cylinder in motor cycle for
(a) Higli sre, gth of cylinder

O) BEtter cooling

(c) ryappearance
(d) Highefficiency

The centifirgal rcnsion in belts

(a)' decrease porye,rtnansmission.

O) incroases power transmission.

(c) does not affect pourer
transmission

(d) increases power rausmission
upto a ceflain s@ and then
decreases.

I
'--1

21.

25.

24.
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26, Erqrffi { €nftffiq {ffi ffitur d
mrtqfrqi{ qftmqEffiHqIq
rnrqnw
(a) qq*qrqil{rqErSr{r

O) srq*+qtr<re6rft1gn
(c) srq++qiFilErlFIqRXFr

(d) srq++qiFil.rET qlqt

27, frE{{tahqrq&tt
frrttfi ![dt = ftt qtq + qE!4dq
qrE

h qrs = tntfi qrq + qEffi
qF[

(c) qq{ctr (rEr - ffiH qfr + h
qFr

#{fi*{qt
(a) q{urwq,m
(b) rqqr€HqiFr;n
(c) rirnq * rqtil
(d) Eqtffiqtfr

FrFfla,ftr€q{trurT eft t;q Efir GF& t
(a) v5qtsE
(b) qq+ llflm
(c) tfq+ffi
(d) rt{+frtiitT

30. o "c t 20 oc ir{F Efer frt T{ wl vt
VSOTTqEE gIt'FFT

(a) rET i[FIr EII[( treflr E I

O) trfrrmrtfurrmrt r

(c) tryrnnqeett r

(d) qr6i6watri r

?,M9

The belting can traosmit maximuP
po$,er when maxinum total tension

in bolt equals

(a) trric.e the centrifugal tcnsiou.

O) thrice the cenrifugal tension.

(g) four times the centifugal rcnsion.

(d) hclf the centifugal tension.

Which of the following is correct ?

(r) Absolute hessule = Gauge

Pressure + Atmospheric
hessw€

O) &uge Pressure = Absolute
Presstre + Atmospheric
hessure

(c) dtmospheric Pressure =
Absolute hessure + Gauge
Pressure

({) .dbsolutp Pressure = Gapge
hessure - Atmospheric Pressure.

The purpose of lubrication is

(p) to reduce friction
(b) to reduce wear and tear

(e) pfotcctfroangorrosior
(d) All of tr6 above

The lqtent hea of vaporisation at
critical point is
(l) less than zero

O) gpsterthmzero
(c) equaltozero
(d) l.trone of the above

The sppcific volune of waer when it
hatcd from 0 oC to 20 oC.

(l) First iocreases and the,n

dccreases.

O) First decroases and then
increases.

(c) Increasp steadily.
(d) Decrease steqdily.

26.

(a)

o)

(d) fintr liFt = itr qIE - qqffiq
trq

29.29,

r'

28.

30.
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tqftffidq.*lr': 70

Ilfsdmllm Marts I 70

qb: O swrffiqfqq+t,dqf +fuf db#wrq?e'+ t

No[e : QuestionNo.l is conptlsory, enswer anyfivc qucstiowfiomtlw reruaining

(u) YdFf[FI tfWI lt1r tV fitftll{(rtrWm@' W t

Solve all pans ola queetbn cotaccutively togalun

(iii) rdo'rr e# zd gw*rneT d&qt t
Start each qrcstion on aficsh page.

(iv) EhI q,vr#+.rteilrr}+ #ft,fr d qqa,rd ryt I

Onty English vcrslon is vatid in ca,e of differerce in both tlu languages.

l. tTqqqldssrfu+:
Define tho following tenns ;
(i) nih

Fatigue
(ii) ftsftrqffit

Potential energy
(iii) firfregw

Spcific gravity
(iv) eil* qm

Wet Steam

(v) nrtqltil
(2xOVelocity ratio

z. ger qrlr qhfin} + sr${f,quil d ftM qt +{rq dwtat fu S q[rqil * vqurri t

Write the charactcristics of high presstue boilers and explain Benson boiler with the
(r2l

P.f,.O.

help of diagrani.

g)

39
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-3. (i) wq+Cro.*frrf-Wr{$1stft{frrn | "
Write the various properties of a good lubricant.

(ii) ryT€T gFlrqFH+fu+il{Iq qlliliTHIurertrqdk+ I

Derive furmula of Tonsion ratio for flat belt open drive (6+{)

4. (r) ffirc gMT d frrrfud dfqqqd wmftftt *'scrq frqq frt qr{d 
1

Defire specffic hoat and exptain firstlaw ofrhermodynarnics.

(ii) rq*'hft*adfrtq,Tqqqf dYmt 1 
'

Explain anry t@e ptysical properties of fluid. (6+6)

). (l) I{tl|TiFTq4lfiuriilaF[ |

Classify the pumps.

(ii) miftrulrqwsifu atwffir+qqeE+ r

Erphh Fr-ancis a#ine with the help of diagram. (6+6)

6. # qffi'Egrt I 
-q:$.o.qAtr 

twIF) fu *r$rffiI *qnstd t

What is oqto cyclc ? Eiqlain four stroke percl engine wi& thp help of diagran. (ljl)

7. (i) Ftrnqrqm*.ry:mdamqrrd tral qd*qffirt*rrmr"i r

F$pleh slf4p gpqc,ratim at constant pressur€ with the help of Temperature-

(ii) Stt,. rrqd riF im frq qrq *'m frfus qFkffi qti qffi6Fwt'ot qr
fi&i r

Write. Ub fomqFe of specific volume and intprnat energy for wet, dry &
Satu@ pd su[rcseatedsteam. (6{)

8. dfuqTfzqtrfrftfirn

Writqlshort Dotes :

(i) ryuFr+e
Pascal's law

(ii) uretm
Selpption of gurbine

(iii) qtffirffi'
Boilcrmouotings (4x3)


